Question Paper Code : 7488

ML.A. (Semester-1V) Examination, 2018
ECONOMICS

[ Fifth(D) Paper |

(Advance Econometric Methods)

Time : Three Hours] [Maximum Marks : 70/100 (as per
eligibility)

Note : Answer five questions in all. Question no. 1 is
compulsory. Besides this, attempt one question from

each Unit. Marks are indicated against each question.
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1. Write short notes on the following : [3x10=30]

frrtfoi oX dfere feell fofee:

(a) Bayesian information criterion

I H G HA
(b) Lag operator and its invertibility
U9l AT IR 6 e
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(c) Mann-Wald conditions for stationarity of a time

series.

Teh e 00 & RERAT &g AM-dicS T
(d) Estimation of roots of a moving average series.

Th = A A & Gl H A

(e) Full information method of estimation of a

simultaneous equation model.

T PIRIE THE0 Jied & AMOE &g T
e fafen

(F An over-ldentified equation.

Th Al ARG FieHer

(9) GLS estimator

AR AH a1 TR

(h) Perfect multicollinearity
T g TH- e

(i) Difference between auto regressive and a moving

average series.
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()] Difference between ARMA and ARIMA models.
AT U9 ORAT Hied § oK SRl
UNIT-1 / Sl

2. Explain the meaning and consequences of errors in
variables. How can this problem be solved for estimating

the parameters in a regression ? [10]
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3. What is meant by constrained estimator ? Describe

estimation method when constraints are linear. [10]
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UNIT-Il / SiE-I

4. Explain the meaning and consequences of
multicollinearity. Discuss estimation in the presence of

multicollinearity. [10]
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Discuss the estimation method with instrumental
variables. In this context also explain the Sargan test for

the validity of instruments. [10]
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Discuss the unit root test under alternative specifications
of regression for which different Mackinnon critical values
exists. Also mention these values for each specification
at 5% probability level. [10]
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Show that in AR(2) process the coefficient associated
with the second lag represents the partial autocorrelation
coefficient between the dependent variable Y, and the

independent variable Y ,. [10]
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With the help of a macro economic model, explain the

steps involved in the 2SLS method of estimation. [10]
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Explain an appropriate method of estimation in case of a
just identified equation. What are the properties of

estimates obtained through this method. [10]
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